1 AABERE

(1) EH(T2—-1)

(£ AR304F)
R 4 A a(10A 181 #) H & o
% B B -3 #“w B 5B g3
2 BH 126,443,180 61,532,495| 64,910,685 918,400 470,851 447,549
¥ & R 1,999,406 969,518 1,029,888 13,720 7,048 6,672
BERLH 202,027 97,244 104,783 1,252 629 623
ZaRt 108,130 52,141 55,989 666 334 332
IWmiB ™ 37,426 17,949 19,477 261 128 133
T g hH 56,471 27,154 29,317 325 167 158
B 4 3t T # B A B m #
% % B -3 #“w B B -4
2 H 1,362,470 699,138 663,332 -444,070 -228,287 -215,783
I¥; B IR 23,030 11,847 11,183 -9,310 -4,799 -4,511
BB 2,394 1,221 1,173 -1,142 -592 -550
Rt 1,181 610 571 -515 -276 -239
IWmiB ™ 478 241 237 -217 -113 -104
+ g 735 370 365 -410 -203 -207
L R % T #
B ER
SR R 5 ¥ | e
® BH 1,748 932 816 801
I¥; B IR 26 12 14 15
BB 3 1 2 2
giaRm 2 - 2 2
WmiE ™ - - - -
+ Ik 1 1 - -
3t i3 o A E B % © #
B 4 iR 22 B B | BREH| BIEER
B = B A A I # % ELLED BER
% B % T
 BH 19,614 9,252 10,362 2,999 2,385 614| 586,481 208,333
I¥; B IR 271 132 139 47 33 14 7,912 2,876
ERBHK 22 10 12 4 2 2 726 279
ZBARR™ 14 9 5 4 2 2 420 163
WmiB ™ 4 1 3 0 - - 142 48
+ Ik 4 - 4 0 - - 164 68




(2) #E (T2—2)

(FER304E)
3 B FE *3 FEIERTET-E *2
B %5 R|HER IR B
B &% |4 B HE RN I | 228 |§ER|EmE e
* *  |(HEInEe|FET-X|FET-H LD =| * *
* *2 %2 3% PE

£ E 1.4 110/ -3.6 1.9 09 20.9 99 11.0 33 26 0.7 47| 1.68
s B 12 7.0 11.8] -4.8 1.9 1.1 19.4 9.4 9.9 34 24 1.0 40| 1.47
BB 6.2 118 -5.7 24 1.6 17.3 7.8 94 3.2 1.6 1.6 36| 138
ZAR™ 6.2 10.9 -4.8 3.0 3.0 20.6 13.2 7.4 6.0 3.0 3.0 3.9 1.51
RBTH 7.0 12.8] -5.8 0.0 0.0 15.1 3.8 11.3 0.0 00 0.0 38| 1.28
T g™ 5.8 130 -7.3 3.1 0.0 12.2 0.0 12.2 0.0 0.0 0.0 29| 1.20
* BIFAOFHR *2 FEIHEFH *3 FBEHETFH
<BHLHEOHEHAE>

WA - - 1B - B IR R =1 EEDEH 10 1BEHED A O X 1,000
BEAENE=(EROEEH -1 FEROETEH) ~1081HEAEDAD X 1,000
WItERBAREESRE - NTIER) =%E (BA- AI)H/HE (K4 +FEE)E x 1,000
BERRECEGFERECER - BHHFAERECTE) =2 RETHFER - BHHFERETEH) ~H 4% x 1,000

W B FE RS 3 =0T R 22:8 LI D FEEE S+ R HAFT A IR FETC 30 H EE (AR 3R+ 0T R 752238 LA % D B EE 20D %K % 1,000

W IR 2 2:E LU DFEE R =T iRm22:E IR DSEES . H E (B A+ 1T iRiE22:8 LIE DOFEEE) x 1,000

<FHZHICHW=-AO>
2EDOAO: FHI0FI1081HIRAEHET AD (RFEHIE)
REDAA : FRB0FEI10A 1 BREHST AD (RIHETER
METR O AL : Fr305E108 1 BIREHEST A D (R#HETER)

XEERVIEEROYIEX, EEHBEARIE

B B =
124,218,285 60,454,898 63,763,387
1,956,000 949,000 1,007,000




2 H &

(1) FERFIHER-FE (T2—-3)

= 4 F R 21 & F B 22 & F AL 23 &F TR 24 & F B 25 &
£ OB | EBx| E B | x| E B | Bx| E B | Fx| E B | F~x
& E| 1,070,035 85| 1,071,304 85| 1,050,806 83| 1,037,231 82 1029816 8.2
gk B B 17,327| 85 16,887 8.1 16,851 8.3 16,496 8.1 16,000 7.9
= A 1,655| 1.7 1,558| 1.3 1,608| 7.6 1,515 7.2 1,462 1.0
2aRM 902 7.9 831| 7.4 872 7.8 812 1.3 771| 6.9
I B 304| 74 303 75 289 7.2 301 7.6 326| 8.3
T ik 449 74 424 170 447 74 402 6.7 365 6.2
= 4 S L 26 £ ¥ R21 & ¥F R 28 £ F R 29 & F B 30 £
£ B | EBx| E B | Bx| E B | Bx| E B | Fx| E B | F~x
& E| 1,003539| 80| 1005677 80| 976978 7.8 946,065| 7.6 918,400| 7.4
g B & 15,138| 175 15,464 7.7 14831 75 14,039 7.1 13,720 7.0
= A 1,352| 6.5 1,440 7.0 1,375 6.7 1,310 6.4 1,252| 6.2
2aRT 734 6.5 776| 7.0 717| 6.5 701| 6.4 666| 6.2
I R ™ 251| 6.4 271 170 285 7.4 231| 6.1 261| 7.0
T & 367| 6.3 393 6.8 373 6.5 378 6.6 325 5.8
* (I AOFx
HEERDHR (F2—1)

10.0

9.5

9.0

8.5

8.0 76 T

1.5 ) S

70 R .

6.5 Al

6.0 64 , A62

21 22 23 24 25 26 27 28 29 30 %
—— 2 E-B—FEEER --A--E K




(2) HEREE(T2—-4)

(FR304E)
N 1,000g |1,000~ 1,500~ 2,000~ 2,500g =
R 72 |& % XKith 1,500 | 2,000g K 7 |2 500k UL T
2 918,400 2,816 3926| 10,981 68546 832,007 124
g B || 13,720 43 59 157 989| 12,470 2
= N 1,252 2 10 15 114 1,110 1
o Rt 666 2 3 7 56 597 1
I B T 261 - 2 3 22 234 -
T g ™ 325 - 5 5 36 279 -
(3) HFRANEAEIR(2,500gkKi#H) HEH-FE (T2—5)
R 4 R 21 & FRE 22 & S RE 23 £ SR 24 5 F B 25 £
£ # B £ B £ Hx £ Hx £ ¥
2 102,671 9.6/ 103,049 9.6/ 100,378 9.6/ 99,311 9.6/ 98,624 9.6
g B B 1,622 9.4 1,569 9.3 1,627 9.7 1,575 9.5 1,496 9.4
= 7| 180 10.9 155 9.9 154 9.6 165 10.9 157 10.7
2AR™M 114 12.6 80 9.6 81 9.3 97 11.9 80 10.4
I B ™ 31 10.2 24 7.9 28 9.7 29 9.6 37 11.3
T Ik T 35 7.8 51 12.0 45 10.1 39 9.7 40 11.0
R 4 I RE 26 £ I RE 27 & I RE 28 £ I RE 29 £ I R 30 £
£ # Hx £ B £ Hx R Hx £ Hx
o 95,768 95| 95,206 95 92,082 9.4| 89,353 9.4| 86,269 9.4
gk B B 1,322 8.7 1,402 9.1 1,349 9.1 1,314 9.4 1,248 9.1
= 7| 124 9.2 150 10.4 162 11.8 129 9.8 141 11.3
Z2aRm 71 9.7 81 10.4 78 10.9 73 10.4 68 10.2
I B ™ 18 7.2 21 7.7 31 10.9 21 9.1 27 10.3
T ik ™ 35 9.5 48 12.2 53 14.2 35 9.3 46 14.2
* FE[I% (HEBX)
* FER7EICIEGRERIIN2,500¢LTORIMSM2,500eKRFBDRIEEBTEINT-,




(4) BOFHRANHERK(T2—6—1)

(R 304E)
K 4 | 158 Rl | 15~198% | 20~245% | 25~29% | 30~34mk | 35~39%% | 40~44i | 45~49% | S50F|LLL e &t
& =l 37 8,741 77,023 233,754 334.906 211,021 51,258 1,591 68 1 918,400
g B R - 121 1,173 3,801 5,153 2,858 602 12 - - 13,720
=i A — 14 117 347 475 249 49 1 — — 1,252
2HRRTM - 6 60 175 248 141 35 1 - - 666
In B T - 3 24 78 101 47 8 - - - 261
T & h — 5 33 94 126 61 6 - - - 325
FERBRBICTBOERERHEST
(5) FEEHNZFAO -G FERHEE(T2—6—2)
(S REZ304E)
EEE%
X 4 15~198% | 20~248% | 25~29%% | 30~34%% | 35~398% | 40~44%% | 45~49%% 4 5
S E| 2823068 2899714 2,882,183| 3,282,944 3,678217| 4,387,863| 4,685313 1.42
Kk B R 49,798 45513 41,610 47,884 54,687 67,597 73,356 1.52
= 2 4,808 4,716 4,270 4,744 5,250 6,392 7,245 1.32
2aRT 2,534 2,534 2,233 2,565 2,881 3,451 4,032 1.30
I B W 933 966 853 897 945 1,113 1,273 1.45
:I:& g 1,341 1,216 1,184 1,282 1,424 1,828 1,940 1.27
H
2E BEEHHBRIEHEGCRER) . B AO-BRAAD (FERHI0E10A1BERE) ]
B EHEHREEEAODSEHRIAEER HER13 B, FREGRER) AAORUELE (FR30£E10A1HRTE)
T R EH R @ THET 4 Al - S BE AR - BXAIA D (ER304E108 1 HBRE) J
(E®)
O£ERUVBEERDEHBHRHER L, EEFEBELIRE,
AHERHEREOFHICE. ZERVREFEZINOZEOBERAAD,
TEXSEERANDOZEDRAOZEA=,
OEHIZAW-HERDI5ERVARICEENENIRLUT. 50U EEZST,
(6) ATIiEiRAitE Fimil-EiRBRIOBEHEH(T2—6—3)
(ERLS0LERE)
X % B #® TETELIET | #e~118 | W12~158 | F16~198 | #20-21:8 TE
“w 125 61 56 1
20 Kb 11 3 8 -
20~24 25 8 17 - - - -
25~29 16 8 6 1 - - 1
30~34 30 23 3 1 - 1
35~39 27 14 13 - - - -
40~44 15 5 8 1 - -
45~49 1 - 1 - - - -
50 L - - - - - - -
T B = - - - - - -




3% T

(1) FERMFECTH-E (T2-7)

B 4 Rk 21 & ¥ Bk 22 S Rk 23 £ F R 24 & F K255

R ¥ | Ex| E OB | Bx| B OB | Bx| E OB | Bx| E ¥ O| Ex
2 H 1,141,865/ 9.1 1,197,012 95| 1,253,066/ 9.9| 1,256,359| 10.0| 1,268,436 10.1
Iz B8] 19,402| 95 20,220 9.7 21,053| 10.3 21,531 10.6 21,518( 10.7
g N 1,980 9.2 2,038 95 2,004 9.9 2,162 10.3 2,173 104
Z2RR™H 910/ 8.0 988 8.8 977| 8.7 1,004| 9.0 1,016| 9.1
BT 427 104 413| 10.2 451| 11.3 459 11.6 430( 10.9
T &k W 643| 10.6 637 105 666 11.1 699 11.7 727| 12.3
4 F Rk 26 & B 27 £ F B 28 4 F Bk 29 £ T Bk 30 £

£ ¥ | Ex| R OB | Bx| B O | Bx| FE OB | Bx| E OB O| EBx
2 HF 1,273,004| 10.1| 1,290,444| 10.3| 1,307,748| 10.5| 1,340,397| 10.8| 1,362,470| 11.0
= -} 21,658 10.8 21,996 11.0 22.471| 11.3 22,964 11.7 23,030 11.8
T A 2.211| 10.6 2,230 10.8 2,305 11.2 2,405 11.8 2,394 11.8
ZARR™ 1,044 95 1,070| 9.7 1,063 9.7 1,141 105 1,181 10.9
IR 471 12.1 456| 11.8 519 135 492| 13.0 478| 12.8
T &k 696 11.9 704| 12.2 723| 12.6 772| 13.6 735| 13.0
* (I AOFx

AOF % TEEOHR(F2—2)

13.0

11.7 1.8
12.0 T pp—
106 10.7 10.8 11.0_ 1.,1,3»"’*’11,3 11.8

11.0 = T — o 10

1nQ

90 F

8.0

7.0

6.0 . )
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——2% E-FEER AT §




(2) TEFEFEMNFECTH-E-BH-BLH (T2—-8)

<> (FRK304F)
. R =
5 o5 @M = 05 A fei m & &= & i & B(BoEEERS)
<HETH M (Fi8) P H M (F48) i (FR) 2L HEE T DD Mt A (F8)
=2 ™ Fx (xEsex E ¥ Fx ERGa+ B B | T x (ZEMHE+| F H | Fx (zune F B | Bx zm0e« B M| Fx ZE0e+ B B | L+ [ZE0a+FE | Tx [ZEHe+E | Fx [ZEHL «
£ [E| 1,362,470|1,096.8 100( 373,584| 300.7 27.4| 108,186 87.1 7.9 11,996 9.7 0.9 33,047 26.6 24| 60,365| 48.6 44| 208,221| 167.6 15.3( 33,507 27.0 2.5/ 36,5675 29.4 2.7
I & ] 23,062(1,179.0 100 6,132 3135 26.6 1,780( 91.0 1.7 208| 10.6 0.9 535 27.4 23| 1,012 51.7 44 3,511| 179.5 15.2 699 35.7 3.0 300 15.3 1.3
g W 2,39411,185.0 100 652 322.7 27.2 173| 85.6 1.2 22| 109 0.9 62| 30.7 2.6 87 43.1 3.6 385| 190.6 16.1 88| 43.6 3.7 36 17.8 1.5
ZBRR™H 1,181]1,092.2 100 365| 337.6 30.9 60| 55.5 5.1 9 8.3 0.8 24| 222 2.0 27 25.0 2.3 207 191.4 17.5 61 56.4 5.2 18 16.6 1.5
RiBRT™H 47811,277.2 100 111| 296.6 23.2 47] 125.6 9.8 4 10.7 0.8 17| 454 3.6 26 69.5 5.4 63| 168.3 13.2 4 10.7 0.8 6 16.0 1.3
T g 735(1,301.6 100 176| 311.7 23.9 66| 116.9 9.0 9| 15.9 1.2 21| 37.2 2.9 34| 60.2 4.6 115| 203.6 15.6 23| 40.7 3.1 12 21.2 1.6
R 4 fii 3% TERDEHR 2 = B ® % &8 R - "R = w &
£ ¥ K+ (Ezex FE ¥ s+ |ERBE B B | Ex EHG+ T M | Fx (zEnex F | Bx (mmne« 2 B | T x |xEse+ E ¥ | Ex (mEme« E | T x |EEHe
£ = 94,661 76.2 6.9] 41,238 33.2 3.0/ 109,605| 88.2 8.0 20,031 16.1 1.5 17,275 13.9 1.3| 26,081 21.0 1.9 14,181 114 1.0 2,204 1.8 0.2
Iz B ] 1,504 76.9 6.5 896 45.8 3.9 2,057| 105.2 8.9 328| 16.8 1.4 240 123 1.0 446 22.8 1.9 194 9.9 0.8 46 2.4 0.2
g N 146 723 6.1 74 36.6 3.1 247( 122.3 10.3 40| 19.8 1.7 30| 14.8 1.3 48 23.8 2.0 11 5.4 0.5 7 3.5 0.3
ZaRm 73 67.5 6.2 33 30.5 2.8 108| 99.9 9.1 24| 222 2.0 13| 120 1.1 26 240 2.2 3 2.8 0.3 4 3.7 0.3
RiB ™ 35 93.5 1.3 14 374 2.9 57| 152.3 11.9 6| 16.0 1.3 8 21.4 1.7 7 18.7 1.5 5 13.4 1.0 2 5.3 0.4
T g 38 67.3 5.2 27 478 3.7 82| 145.2 11.2 10| 17.7 1.4 9 15.9 1.2 15 26.6 2.0 3 5.3 0.4 1 1.8 0.1
* B ANO10BFAHBYORTEHE (ZERVROREIEEHTBEARIE)
* SEEBE BRI T HEEZNDOEE
<EBE> (FRi304F)
. R =
5 o5 @M = 05 A fei m & &= & i & B(BoEEERS)
<HETH M (FS) RPN H f (F48) MiEE (FR) 2D HEE E DD ML K E(FB)
=2 ¥ Fx (x@Esax] E Ex ERAe+ B B | Fx (ZEE+ B B | Bx (zaue+ B B | T zEne« B | Fx ZEne+ E ¥ | Fx [zEna« K H| T x [Z@sex+E | Fx [ZE8s
£ =H 699,138 1,156.5 100( 218,625 361.6 31.3( 52,398 86.7 1.5 4,385 7.3 0.6| 18,013 2938 2.6( 28,727 475 4.1 98,035 162.2 14.0] 19,207 31.8 2.7 21,655 35.8 3.1
gz B IR 11,847(1,248.4 100 3,573| 376.5 30.2 849| 89.5 1.2 74 7.8 0.6 297 313 2.5 468| 493 40 1,645 173.3 13.9 413| 435 3.5 191 20.1 1.6
T K 1,221(1,255.6 100 379 389.7 31.0 97| 99.7 7.9 9 9.3 0.7 40| 411 3.3 48| 494 3.9 199| 204.6 16.3 56 57.6 4.6 24| 247 2.0
ZHR™H 610(1,169.9 100 206| 395.1 33.8 33| 63.3 5.4 3 5.8 0.5 16( 30.7 2.6 14 26.9 2.3 111 2129 18.2 40 76.7 6.6 12 23.0 20
o ] 241)|1,342.7 100 67| 3733 27.8 27| 150.4 11.2 3| 16.7 1.2 11| 61.3 4.6 13 72.4 5.4 30( 167.1 12.4 1 5.6 0.4 3 16.7 1.2
T g 370(1,362.6 100 106| 3904 28.6 37| 136.3 10.0 3] 11.0 0.8 13| 479 3.5 21 713 5.7 58| 213.6 15.7 15 55.2 4.1 9 33.1 2.4
R 4 fii 3% TERDODEHR 2 = B ® & & T F 2 "R = w
£ H Fx (xE@se+| E ¥ Fx ERGL+ B B | Fx ZESE | B N | Fx |zmne«| B M | B+ [zene« K | Fx zE0a+ B ¥ | FLx (ZE0a+ K B| F*x (zE#L»
£ H 52,158 86.3 75| 23,675 39.2 3.4| 28,200| 46.6 40 13,8561 229 20 11,212 18.5 1.6 13,230 21.9 1.9 7,831 13.0 1.1] 1,302 2.2 0.2
s B IR 812 85.6 6.9 486 51.2 41 558 58.8 47 218| 23.0 1.8 155| 16.3 1.3 231 243 1.9 102 10.7 0.9 26 2.7 0.2
g N 74 761 6.1 40 411 3.3 63| 64.8 5.2 24| 247 2.0 19| 195 1.6 27 27.8 2.2 5 5.1 0.4 4 4.1 0.3
Z2aRH 32 61.4 5.2 18 345 3.0 30| 57.5 49 17| 32.6 2.8 11 2141 1.8 16 30.7 2.6 1 1.9 0.2 3 5.8 0.5
RiB ™ 19| 105.9 1.9 7 39.0 2.9 14| 78.0 5.8 3| 16.7 1.2 4| 223 1.7 3 16.7 1.2 4 22.3 1.7 1 6 0.4
T g 23 84.7 6.2 15 55.2 4.1 19| 70.0 5.1 4| 147 1.1 4| 14.7 1.1 8 295 2.2 - 0.0 0.0 - = -0
* B: ADM0FAHEYORCHAE (ZERVROERIELEFHEHELAKRIE)
* JERBE  BRICHTHEERANDOEE
<&x> (ER304E)
. R .
N ST @ E 5 i I & & B i & B(EmLEEZERO
<HETH M (FES) fixi Pt i (5 48) i (F1H) SHEDLHEE F DO il R (FB)
£ x mEsex £ x ZRae+ B B | Fx (ZEe+ B | Bx (zaue+ E B | B x zEne« B M| Fx zE0e+ £ B | Fx [z50s+E | Fx [Z@8e+E H| T x [ZE#L
£ =H 663,332 1,040.3 100| 154,959| 2430 23.4 55,788| 87.5 8.4 7,611 11.9 1.1 15,034 23.6 2.3| 31,638 49.6 48| 110,186| 172.8 16.6( 14,300 22.4 2.2|1 14,920 23.4 2.2
gz B IR 11,215(1,113.7 100 2,559| 2541 22.8 931 925 8.3 134| 133 1.2 238 23.6 2.1 544 540 49 1,866 185.3 16.6 286 28.4 2.6 109 10.8 1.0
T K 1,173(1,119.5 100 273 260.5 23.3 76( 72.5 6.5 13| 124 1.1 22| 21.0 1.9 39 37.2 3.3 186| 177.5 15.9 32 30.5 2.7 12 11.5 1.0
ZHR™H 571|1,019.8 100 159| 284.0 27.8 27| 48.2 47 6| 10.7 1.1 8| 143 1.4 13 23.2 2.3 96| 171.5 16.8 21 37.5 3.7 6 10.7 1.1
In R 237(1,216.8 100 44| 2259 18.6 20| 102.7 8.4 1 5.1 04 6| 30.8 2.5 13 66.7 5.5 33| 169.4 13.9 3 15.4 1.3 3 15.4 1.3
T gk 365(1,245.0 100 70( 238.8 19.2 29| 98.9 1.9 6| 205 1.6 8| 273 2.2 13| 443 3.6 57| 1944 15.6 8 27.3 2.2 3 10.2 0.8
R 4 fi 3% TRDODEH z2 = B ® F & & B F 2 B R R I
E K+ (mEBex E s+ |ERGe B B | Bx ZEHG+ F ¥ | Fx (zEne+ F | Bx (zmne« 2 B | Bx |ZEMe+ E ¥ | Fx (2Ens E | FTx |[EE0a
£ H 42,503 66.7 6.4 17,563 275 2.6| 81,405| 127.7 12.3 6,180 9.7 0.9 6,063 9.5 0.9( 12,851 20.2 1.9 6,350 10.0 1.0 902 1.4 0.1
s B IR 692 68.7 6.2 410 40.7 3.7 1,499( 148.9 13.4 110 10.9 1.0 85 8.4 0.8 215 214 1.9 92 9.1 0.8 20 2.0 0.2
g N 72 68.7 6.1 34 324 2.9 184| 175.6 15.7 16| 15.3 1.4 11| 105 0.9 21 20.0 1.8 6 5.7 0.5 3 2.9 0.3
ZAR™ 41 73.2 1.2 15 26.8 2.6 78( 139.3 13.7 7 125 1.2 2 3.6 04 10 17.9 1.8 2 3.6 04 1 1.8 0.2
IRiB ™ 16 82.1 6.8 7 35.9 3.0 43| 220.8 18.1 3] 154 1.3 4] 205 1.7 4, 205 1.7 1 5.1 0.4 1 5 0.4
T g 15 51.2 4.1 12 40.9 3.3 63| 214.9 17.3 6| 205 1.6 5( 171 1.4 7 23.9 1.9 3 10.2 0.8 1 3.4 0.3

* B:AO0AAHEYORCHS (ZERVRORIEEFHBEARKE)
* SEEBS BBICHTIREEINDOES



(3) FEER-1%-FmEHRANFECH(T2—9 EA)

BHEH-F. 4.7

(FERL304E)

1% | 1| 5| 10| 15| 20| 25| 30| 35| 40| 45| 50| 55|60 65| 70| 75| 80

Rith| 4% | On% | 148% | 198% | 24a% | 295% | 34i% [ 3948 [ 445% | 498% | 54%% | 598% | 64a% | 695% | 745% [ 794% [ 845%
e 2394 3| -| | 1] 2| 3| 4 71 e 6| 19| 26| 55| 70| 158| 194| 268| 434| 1,138
T | Bl 12210 1| -| -| -| 1| 2| 3 5 4 3| 12| 13| 35| 47| 104| 139| 168| 249| 435
| 1173 2| - -| 1 1l 1| 1| 2| 2 3 7| 13 20| 23 54| 55| 100 185 703
o 1813 - -| - -| 2 3 4 6 5| 6| 16| 23] 46| 63| 124| 140| 200 319| 856
rEwEes e | | | | | 1 2| 38 5/ 3 3 10| 13 30| 43| 83| 104| 125 187| 319
x| 882 -| -| -| - o 1| 1| 1| 2| 3 6| 10of 16| 20| 41| 36| 75| 132 537
e 652l -| -| | -| -| -l 2 2 1| 5 4 9o 28 32[ 70| 89| 95| 122| 193
EmEm (B 3719 -| | -| - - - 1| 2 -| 2 2| 4| 16| 19| 46| 63| 57| 74 93
=) 2713y -| -| -| - - - 1| - 1| 3 2| s 12| 13| 24 26 38 48| 100
e 173y -| -| - - - - - - -| 1| 4 3 4 3 8] 12| 23 25 90
RmnExE | B o -| - - - -t - - -| -| 1| 4 2| 3 3 6 10| 14| 15 39
% e -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 - 1 1l -| 2| 2| 9 10| 51
<HBET @®m 22 - -1 - - - -1 - -1 - - 1 1l - 1 1| 4 4| 4 6
H om |8 a9 - -1 -1 -1 -1 - -t -t -1 -1 10 11 -1 11 - 2 1| 2 1
(1) | % el - -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 - -1 - 1 2 3 2 5
Rmmmges e2f - - -| - -| -| -| -| -| 1 3] 2 2| 2| 4 6 6 7| 29
8 90 - - - - - - - - - 1 3 1 1| 2| 4/ e 3 7| 12
(1) | % 221 -| - - - - - - - - - - 1 1l - - - 3 - 17
B & mga s7\ - -1 | - - -1 - -1 - - - -| 2 - 38 2 12| 14 54
2} 48 - - - - - - - - -l - - -| 2f - 2f 2 10 26
(B1) | % 9 -| - - - - - - - - - - - - - 1| - 2 28
e 3ss) -| | -1 | - - - - 2 -| 8 38 2| 11| 25( 21| 44| 72| 202
& B (8] 199 | - - - - - - - 1| -| 2 2 1| 10of 18] 17| 28] 41 79
=| 186 -| -| -| - - - - - 1| - 1] 1 1l 1| 71 4] 16| 31| 123
atbmew e8| - - -1 - - -1 - - 1 - - 1 1| 5[ 5 71 18] 21| 29
g E | B se] -| -| - -| - -1 - - 1 - - 1f 1f s 4 5 14 10[ 15
(B8 | % 21 - - - - - - - - - - - - - - 1 2 4 1 14
toto ey 36 - - - - - - - - - -l - - 1| 2 3 3 4 10 13
Egﬁ'” B 24 - - - - - - - - - - - - - 1| 2| 3 4 7 7
BB |%x 2l - - - - - - - - - - - - 1 1 1 - -] 3 6
ww 14 - - | - | - | - | -| 2 1| -| 2 4 5| 14 32| 86
M % |8 40 - - - - - - - - - - 1| -] -| 2| 2 5| 11| 21 32
T 721 - - - - - - - - - - 1| 1| - - 2 - 3 u 54
e 4 - - - - f 1 - -1 - - 1| -| 2 3 e 3 13 11 33
TEROEH | B 400 -| | -| - 1| 1| | - - - - - 2f 1f 4 2 10f e 13
I 4] - - - - - - - - - - 1| -| - 2 2 1| 3 5 20
e o7\ - - - - - - - - - - -l - - - -| 4 8 271 208
2 =E |B 3| -| - - - - - - - - - - - - - - 38 5 8 47
x| 184 -| - -| - - - - - - - -1 - - - - 1| 3 19[ 161
M a0 - -| - -| 1| 2| 2| 3 2 -| 2 5 4 5 3 3 1] 3 4
B £ |B 24 - | - - -| 1| 2| 2| 2f -| 1| 3 2 3 3 2 - 2 1
T e - - - - i 1 - o - - 1 2 2 2 - f 1| 1 3
e 30l - -1 - - - - - 1 - -| -| 2 4 4 6 - 1] 6 6
& & | B o | | | - - - - 1| | -| -| 2 4 38 3 - - 5 1
X nl - -1 -t - -1 - -1 -1 -1 - -1 - - 1 38 - 1] 1 5
e a8 - -| | - - -1 - - - - - - 1| 2 2 3 -| 16 24
BFr 2 |B 2711 - - - - - - - - - - - - 1| 2 1| 2 - 10 11
X 211 - - - - - - - - - - - - - - 1| 1| - e 13
e u - - -1 -1 - -1 - -1 -1 -1 - - 1f 11 - - 1| a 4
ERAHE |B s\ - - - - - - - - - - - - 1 - - - - 4 -
% o] - -| -| - - -1 - - - - - - - 1 - - 1| - 4
e nn - -1 - -1 - -1 - -1 - -1 - -1 -1 -1 - - - 1 6
# B |B a8 - - - - - - - - - - - - - - - - -] 1 3
T s - - - - - - - - - - - - - - - - - - 3




7 EREA-%-FERANETH(ZBRH)

1% | 1| 510|152 | 25|30 |3 |4 | 45| 5 | 55| 60| 65| 70| 75 | 80

Kt Ak | Ok | 145% | 1975 [ 248% | 294% | 345% | 308% | 44i% | 49%% | 548% | 594% | 645% [ 69&% | 74i% | 79%% | 84i%
w181 2 - - - - 2 4 5| 8| 10| 17[ 27| 40| 81| 114 123 207| 544
exrHH (B| 6100 - - - -| -| 1| 2f 2| 38 2f 5| 10| 18| 27| 53| 74| 77| 128] 208
x| 51| 2 | - - - 1| -| 2| 2 1 s 71 9| 13 28 40| 46| 79| 336
oM o6l - - -| -| -| 2 2| 3 4 3 9 15 25| 36| 67| 82| 94| 158| 416
FERRLH| B| 418] -| | | -| -| 1| 2 2| 2[ 2| 5| 10| 18| 25 44| 56| 59| 97| 155
x| 438 - -| - - - 1| - 1| 2| 1| 4 5 7| 11| 23 26| 35/ 61| 261
¥ ses| - -1 | | -| | 1 -| 1| 2f 2| 7| 16| 19| 45| 54| 45 70| 103
Evtgmam (B 206 - -| - -| - - 1| -| -| 1| -| 4] 9 12| 29| 34| 24| 43| 49
x| 159/ | | | -| - - - - 1| 1] 2| 38 71 71 16| 20| 21| 27[ 54
e eof - -1 - - - - - - - 1| 2 | 2| 1| 4 71 9 6| 27
BOLERE | B 3 - | - - - - - - - 1 2f - 2f 1 6| 6 3 o9
& 27 - - -1 - -1 - - - - - - f - - 1f 1| 8 3 18
BET @® 9 -| - - - - - - - - - - - - - - 2 3 3 1
H m | B sf - | - - - - - - - - - - - - -| 1 1 1| -
(B8 |[% ef -| -| -| | | - - - - - - - - -| - 1] 2f 2f 1
i s 24 - -] | | - | - - - 1 2 1| f 1 1| 4 - 2| 11
= e - - - - - - - - - 1| 2 - 1| 1| 1| 4 -| 2f 4
(B®) |[x 8f - -1 - -1 - -1 -1 -1 -1 -1 -1 v -1 -1 -1 -1 -4 -4 7
& ERY 270 -| - -1 - -1 -1 -1 -1 - -1 - - 1f - 8 1f 6 1] 15
5 1w - -1 - -1 -1 -1 -1 -1 -1 - - - 1 - 2 1| 5 - 5
(B8 |[x w - -1 - -1 - -1 -1 -1 -1 -1 -1 -1 - - 11 -] 1| 1 10
oy 20 - - - - - - - -| 2 -| 2 1 -| 6 11| 14] 28] 37| 106
bES& |8 11| - - - - - - - - 1| -] 1| 1| -| 6| 9f 11| 20 21| 41
& % -| -| -| -| -1 -1 - - f - 1f - - - 2f 3 8 16| 65
Aoy e - - -1 - - - - - 1| - -| 1| -| 4 5| 5| 13 13 19
B E|B 490/ -| - -1 - - - - - 1 - - 1 -| 4 4 4 10 6 10
(@) | % 21 - - - - - - - - - - - - - - 1f 1f 38 71 9
oMo W 18] - - - - - - - - - - - - [ ] -] 1] 8 1| s
Egﬁ“ 5 2 - -1 - - - - - - - - - - - 1| - 1| 3 5 2
(H#8) (% e -| | - - - - - - - - - - - - -| - - 2f 4
e 3 - - | - - - - - - - 11 - - 1| 38 2| 6| 12| 48
% =5 2 - - -1 - -1 -1 - -1 -1 - 1 -1 - 1 1| 2| 4f 7] 16
- “ - -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 - 2f - 2 5] 32
oM 33 - - - - - - - - - - 1| -| 2 1| 1| 2| 4 4 18
FTEOEH | B s - -1 - -1 -1 -1 -1 - -1 - -1 - 2 - -| 1| 4 3 s
& 50 -1 - - -1 - - -1 - - -1 1 - - 1 1 1 - 1] 10
e 108 - - - - - - - - - - - - - - -| 1| 2[ 11| o4
£ = 2 o - -1 -1 -1 -1 -1 -1 -1 -1 -t -1 - - - - 1| 1| 5| 23
- s - - - - - - - - - - - - -| - - - 1| 6 7
ey 24 -| - | - | 2 1 2 f - 1| 4 1| 4 1| 1| -| 38 8
B & 5 17 - - - - - 1| 1 1 1| - 1| 8 1| 3 1| 1| - 2[ 1
T nm -1 -1 -1 -1 -1 11 -1 11 -1 -1 -1 11 - 11 - | - 1|1 2
oM 13 - - - - - - - 1| - - - 2 2 3 1 - - 38 1
F&EE |5 "l - -1 -1 -1 -1 -1 - 1 - - -| 2 2 2 1 - - 38 -
- 2l - | - - - - - - - - - - - 1|1 -| - - - 1
e 26 - - - | - - - - - - - - 1| - 1| 1| - 1| 12

BErxz (B e - - - | | | -| - - - - - 1 -| - -| -

& of - - - - - - - - - - - -| -| -| 1| 1| - 2
e sl - - -1 -1 - - -1 -1 -1 -1 -1 -1 1 1 -1 - - - 1
mR® |B 11 -1 -1 - -1 -1 -1 -1 -1 -1-1-1-+-"1--1-1-1-1-
& 2l - | - - - - - - - -1 -1 - - 1 - - - - 1
o 4 - -1 -1 -1 - -1 -1 -1 -1 -1 -1 -1 -1 - -1 - - 1| 3
® ® g sf - | - - - - - - - - - - - - - - - 1| 2
- 1l -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 - - 1




4 EECE- 1% - FimbE RIS TH ERiRT)

1% | 1 | 51015 20| 25 | 30 | 35 | 40 | 45 | 50 | 55 | 60 | 65 | 70 | 75 | 80
R 2 w8 ~l~|~l~|~|~|~|~|~|~|~|~|~|~|~|~]|~ iji
K| 4% | Ok | 147% | 198% | 245% [ 207% | 347% [ 304 [ 4475 [ 40% | 545K | 597% | 64i% | 697% | 745% | 79i% | 84i%
wm a8 - - - - f 1| 1| 2 | - 2| 8 14 13| 28 31| 57| 83| 242
ewres |8 4| - -| - - - 1| -| 2f - -| 1| 2| 8| 11| 18] 25| 33 45| 95
x| 237 -1 -1 - 1f - 1 - - - 1f 1| e 2f 10f 6 24 38| 147
w8 855 - - -| - 1| 1| 1| 2| - - 2| 38 10| 11| 21| 20| 43| 64| 176
FERRLH| B| 179 | | -| - - 1| -| 2f -| -| 1| 2 s 9 15 16 23 35 70
x| 6] -| - -| -] 1 - 1 - - - 1f 1] 5 2| 6 4 20 29| 106
e | - - | - | - 1f 1 | - 1| 1| 6 4 13 11| 22| 18] 33
TEmED | B 67| - -| - - -| - -| 1f - -| 1| -| 2[ 2 9 8 13 10| 21
X a4 | -1 - -1 -1 - 1 - - - - 11 4 2 4 9| 8| 12
e 47 - - -1 - -1 -1 - -1 - - - 2 - f 11 -| e 13 24
BRmEEE | B 211 | - - - - - - - - - - 2 -| 1| 1 -| 4 8 1
X 20 - - -1 - -1 - -1 - - -1 - - - - - - 2 5] 13
<HET @ 4 - - -1 - - -1 - - - - -1 1| - 1 - - - 1] 1
M om |5 sf | - - - -1 - - - - - - 1 - 1 - - - 1| -
(B8) | & 11 - - -1 -1 - - -1 -1 -1 -1 -1-1-1-1-1-1 -1
Badm g 170 - | | | - - - - - - - 1| - - 1| -| 4 4 7
= ml -t - - - - -1 - -1 - - -1 1 -1 - 1| -| 2f 4 3
(B#8) |x 6 - - -1 - - -1 - - - - -1 -1 - -1 - -1 2f -] 4
B ER®M 26 - - -| - - - - -1 - - -1 - - -1 - -| 2f 8 16
5 13 -1 -1 -1 - - -1 - -1 -1 - -1 -1 -1 - -| -| 2f 3 s
(B#8) | % 13 - - - - -1 -1 -4 -1 -4 -1 -1 -1-1-1 -1 - - 5 8
e e - -| -| - -| - - - - - - - -| 8 2 2 4 9 43
D E A (B of -| -| - - - - - - - - - - -| 8 1| 2f 1 5| 18
X 3 | - - - -1 - -1 - - -1 - -1 - - 11 - 38 4 25
abmEey 4 - - -1 -1 - -1 - - -4 - -1 -4 -4 -4 -4 -1 -4 - 4
£ |8 1 - -1 -1 - -1 -1 -1 -1 - -1 -1 1 -1 -1 -1 -1 - - 1
(FBi8) | X 3 - - - - - - -1 -1 -1 - -1 -1 -1 -1 - 3
tomo ey e - -[ - - - - - - - - - - - - o of | - 4
Egﬁ'b ] sf - - - - - - -1 - - - - -1 - - - 1| -] - =2
(B48) | % 3 - - - -1 - -1 -1 -1 -1 - -1 -1 -4 - 1 - -1 - 2
s s - - | - - - o - o - 1| - - 1| -| 1| 5 10] 17
% | B 19 - - - - - - - - - - - - - 1| - 1| 4 e 7
X 6] - - - - - -1 - - - - 11 - - - - -] 1] 4] 10
oM 14 - - - - - 1 - -1 - -1 - - -| 1| 2 1 2 6
TEROEH (B 11 -1 | | | - 11 - - - - -| -| -| 1| 2 1| - -] 2
X 71 -1 -1 -1 -1 -1 -1 - -1 -1 - - - - -] - -| 2f 1 4
e 571 - | - - - - - -1 - - -1 - -| - - 3 =2 71 45
2 E |B 1w -l - - - - -1 - - -1 - -1 - -1 - - 2 1| 2 o
E-S 43 -| - - - - - - - - -1 - - - - - 1 1] 5] 36
e e - - - - of - - tf A - - - 2 - - 1| 1| - -
B & |B sf - -1 - - - - - o - - - - 1 -| - 1| - - -
T 3 | - - - o - - - -1 - -1 - 1 - -| - 1| - -
oM s - - - - - -1 - -1 - - -1 - 2 1f 2 - - 1] 2
F&E& |B 4 -1 -1 -1 -1 -1 -1 -1 - -1 -1 - -1 2 11 11 - - - -
X 4 - -1 - - - -1 -1 - -9 - -1 -1 - - 1 - -] 1| 2
e 71 -1 -1 -1 - -1 - -1 -1 A1 -1 -1 -1 -1 - 11 1 | 1] 4
BT 2 |B 3f - - - - - - -1 - - - - -1 - - 1| 1| - - 1
E*S 4 - -1 - - - -1 -1 - - - - - - -1 -1 - -] 1| 3
s s - - | | - - - - - - - - - - - - 1 4 -
BRAE (B 4 - -1 - - - L A -
& 1\ - -1 -1 -1 -1 - -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 1|1 -| -
ey 2 - - - - - - - - -1 - - - -[ - - - | - 2
B & (3 i - -1 -t 1 -1 -t -1-1t-1-1-"1-1-1-1-1-"q9-"-"1-]:-1
X 1\ - - - - - - - -1 - - -1 -1 -1 -/ - -1 -/ -] 1




7 EREER-E-FEmERASE T (LTiEH)

1% | 1| 5 |10|15|20]| 25|30 | 35| 40| 45|50 [ 55([60| 65| 70| 75| 80
X 4 % ~|l~|~|~|~]~]|~|~|~|~|~|~|~|~|~|~]|~ ﬁi
K| 4% | Ok | 148% | 198% | 245% | 205% | 345 [ 394K [ 4455 [ 498% | 54k | 59#% | 647% | 694% | 745% | 794% [ 84i%
fam 735 1| -| - 1| 1 | f 1| 1| 8 71 6| 14| 17| 49| 49| 88| 144| 352
ewrid (8| 38w 1| -| - - 1| - 1 1 1| 1| e 1| 9f 9| 33 40| 58 76| 132
=| 35 - -| -| 1 - - - - -l 2f 1] 5 5 8 16 9f 30 68| 220
e o542 -| -| - - 1 - f 1| 1] 3 5 5 11| 16| 36| 38| 63| 97| 264
FERELH B 2714 | | | - 1 - 1 1 1 1| 4 1| 71 9o 24| 32 43| 55 94
| 268 - -| -| - - - - - -l 2f 1| 4] 4 71 12| 6 20[ 42| 170
e 160 -| -| - - - -| -| 1| -| 3 1| 1| 6 9 12| 24| 28] 34| 57
EtgmEw | B8] 106l - - - - - -1 - 1 - 1| 1| - 5| 5 8 21| 20 21| 23
S o0 -| | - - - - -1 -| - 2 -| 1| 1| 4 4] 3 8 13 34
e 66| -| -| - - - - - - - - 2 - 2 1| 38 5 8 6 39
RmERE | B a7t - - - - - - - - -l -l 2 -| 1| 1| 2| 4 4 4f 19
T 29 - - -1 -1 - - - - -l -l -1 - 1 -| 1 1| 4 2[ 20
HET B - -1 - - - -1 -1 -1 -1 -1 1 - - - 1| 2 1 -| 4
H m |5 -1 - - - -t -1 -1 -1 -1 -1 1 - -1 -1 -1 11 - - 1
(F#®) | % -1 -1 - - -1 -1 -1 -1 -1 -1 -1 - -1 -1 11 1| 11 -] 3
Rimmm s 2f - | - -1 | - -1 - - - 1| - 1 1| 2f 2 2 1 n
B @B - -1 - -1 - -1 -1 - -1 - 1 - -1 1| 2 2 1 1| s
(E#®) | % 8] - -1 - - - - - -1 - - - - 1 - - - 1| -
i Ege® 34 - - -1 -1 - - - - -1 - - - 1| - -| 1| 4 5[ 23
8 200 - - -1 - - - - - - - - - 1 - -| 1| 3 3 13
(B | % B - - - - - -1 -1 -1 -1 -1 -1 - - -l -l - 1] 2| 10
#y ns| - -1 | - -1 - - - - - 1 2 2f 2 12 5| 12| 26| 53
D E B | B s - - - -1 - - - - -l - 1| 1| 1| 1| 8 4 7| 15[ 20
T s7( - - - - - - - - -l - -] 1| 1] 1 1l s 11| 33
auomie 23 - - -1 -1 -1 - - - - -1 - - 1| 1 - 2 s 8 &6
B £ |8 5 - - - - - - -1 - - - - - 1 1 -| 1| 4 4 4
(748 | % s - -1 - - - - - -1 -1 - - - - - - 1| 1| 4 2
Tomdlms 12| - | -| - | - - -| - - -| - 1| 1| 2f 1| 1| 3 3
fﬁﬁ% =} 9 - - - - - - - - - - - - - - 2f 1| 1] 2| 3
(B | % 3y - - - - - - - - - -1 - - 1 1 -1 - - 11 -
e 38| -| -| - - - - - -1 - -1 - 1 - -l 1| 2 3] 10] 21
% L} 23 - - - -1 - - - - - -1 -1 - - -| 1| 2 3 8 9
I 51 - | - - - - - - - - - 1 - - - - -] 2| 12
el 271 - - - - 1 - - - - - - - - 1 38 -| 71 6 9
FTEOEH | B 5 - -1 -1 - 1 | - - - -1 -1 - - -| 2f - 6 3
T 12 - | - - - - -1 - - - - - - 1 1| - 1| 3
e 82| -| -| - - - - - -1 - - - - - -l - -| 4 9 e9
£ = L} 19 - - - - - - - - - - - - - -l - - 38 1] 15
% e3(f - - -1 - - - - - - - - - - - - - 1| 8 »54
e 100 -| - - - - - 1 - of - 1 of 1 1 2 1f - -] 1
B B ::} a0 - - - - - -1 11 -1 11 -1 - - - - 2 - - - -
T 6] - -1 - -1 - -| - - - - 1 il 1 1 -1 1f -1 - 1
2% | of - - - - - - - - - - - - - - 38 - 1] 2 3
F&iEEB |B 4 -1 -1 - -1 -t -1 -1 -1 -1 -1 -1 -1 -1 -1 11 -1 -| 2 1
T s - -1 - - - -l - - - - - - - - 2 - 1| -] 2
e 150 -| -| - - - - - -1 - - - - - 2 - 1| -| 4 s
BEFre (B sl - -1 - - - - - -1 - -1 - - - =2f - 1| -| 1| 4
%" i -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 - - 3 4
w3 - - - - - - - -4 -4 - - -4 - - - - - - s
mR®E |B -1 -1 -1 - - -1 -1 -1 -1 -1 -1 -1 -1 - -1 -1 -1 -1 -1 -
T sy - - - - - -t -t -1 - - - - - - - - - -] s
e o - - - - - - - - - - - - - - - -1 | -
B = 8 -1 -1 -1 -1 - -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -1 -
T it - - -1 -1 -1 -1 -1 - -1 -t -1 -1 -1 -1 -1 - - - 1




(4) FRELAIBEFEDFH T (T2—10)

(ERR304F)
EESKk | FR U SE.AF
R &4 |ENHEY & EH = # B |HEBTE -3 X R U
(80 RUER | FREE
B 373,584 11,345 44,192 35,414 15,244 25,925 35,390 74,328
2 EB| B 218,625 9,358 28,843 17,467 9,631 17,032 17,938 52,401
= 154,959 1,987 15,349 17,947 5613 8,893 17,452 21,927
B 6,132 128 811 596 254 377 611 1,251
g BB B 3,573 110 521 269 159 246 325 887
= 2,559 18 290 327 95 131 286 364
B 652 21 75 73 24 36 68 130
s W B 407 14 65 27 16 32 23 100
- 291 2 31 29 16 16 28 41
B 365 12 33 39 14 23 33 79
2Rt B 206 8 24 14 9 14 16 47
- 159 4 9 25 5 9 17 32
B 111 4 17 9 4 6 17 16
WEBT| B 67 4 9 3 3 5 7 13
T 44 - 8 6 1 1 10 3
B 176 5 25 25 6 7 18 35
Tikd| B 106 5 16 12 4 4 11 23
x 70 - 9 13 2 3 7 12
E % BIiR | 3 B = Bl B | Aam%E | FOft
#BH 12,250 14,759 6,800 4,784 8,809 84,344
& E| B 12,250 106 . . 5,270 48,329
= . 14,653 6,800 4,784 3,539 36,015
B 185 222 127 67 132 1,371
g B R|( B 185 2 73 796
= 220 127 67 59 575
B 18 25 8 8 8 182
g W| B 16 - 9 105
= 21 16 10 4 77
B 9 16 6 5 5 91
2Rt B 9 - 3 62
= 16 6 5 2 29
B 5 5 1 - 0 27
mEBW| B 5 - - 18
- 5 1 - 9
B 4 4 1 3 40
TiEEHm| B 4 - 2 25
= 4 1 3 1 15




(4) (EROLLAIBMEFTEY A - S lnbE &3 SE T80

(ZBBR™) (T RE304E)
F i
X 7 @ | 1~4|5~g| 10~|15~ |20~ 256~ |30~ |35~ |40~ |45~ |50~ |66~ |60~ |65~ |70~ |75~ (80~ |85~
14| 19| 24| 29| 34| 39| 44| 49| 54| 59| 64| 69| 74| 79| 84| KL
2% | 365 - - - - - 1 - 1 2 2 7 16 19 45 54| 45 70 103
%@fﬁ&%% Bit| 206 - - - - - 1 - - 1 - 4 9 12| 29| 34| 24| 43| 49
| 159 - - - - - - - 1 1 2 3 7 7 16| 20| 21 27| 54
LB 12 - - - - - - - - - - - - - 1 2 - 5 4
BE B 8 - - - - - - - - - - - - - 1 2 - 4 1
i 4 - - - - - - - - - - - - - - - - 1 3
B 33 - - - - - - - - - - - 4 1 3 7 5 5 8
B8 B4 24 - - - - - - - - - - - 2 - 2 7 5 4 4
it 9 - - - - - - - - - - - 2 1 1 - - 1 4
B# 39 = = = = - - - - - - - - 1 3 8 5 13 9
] B4 14 - - - - - - - - - - - - 1 1 4 2 4 2
i 25 - - - - - - - - - - - - - 2 4 3 9 7
2% 14 - - - - - 1 - - - - - 3 - 3 1 1 2 3
Eg-sﬁ B of | - - - - 1 e e e ! L | I 1 2
£ g3 5 - - - - - - - - - - - 1 - - 1 1 1 1
B 23 - - - - - - - - - - - 1 2 1 1 6 4 8
Eﬁgﬁ B 14 - - - - - - - - - - - 1 1 1 1 4 3 3
R i 9 - - - - - - - - - - - - 1 - - 2 1 5
I 33 - - - - - - - - - 1 2 3 2 7 4 2 7 5
-3 B 16 - - - - - - - - - - 2 2 1 3 1 - 4 3
Iod £y 17 - - - - - - - - - 1 - 1 1 4 3 2 3 2
o & X 79 - - - - - - - - 1 - 1 - 3 11 16 7 17 23
BEX &k | B 47 - - - - - - - - 1 - 1 - 2 9 10 3 10 11
5 v ey 32 - - - - - - - - - - - - 1 2 6 4 71 12
B 9 - - - - - - - - - - - 1 - 1 - - 2 5
HIZAR | Bi% 9 - - - - - - - - - - - 1 - 1 - - 2 5
i
LY 16 = = = = = = = 1 = 1 2 = = 5 1 1 1 4
B Bit - - - - - - - - - - - - - - - - - - -
Tt 16 - - - - - - - 1 - 1 2 - - 5 1 1 1 4
R 6 = - - - - - - - 1 - - 1 1 1 - - 1 1
FE Bt
i 6 - - - - - - - - 1 - - 1 1 1 - - 1 1
2% 5 - - - - - - - - - - - 1 1 - - 3 - -
BR&R Bt
it 5 - - - - - - - - - - - 1 1 - - 3 - -
“BH 5 = - - = - - S S S S S S S S 3 1 1 -
B | B 3 - - - - - - - - - - - - - - 1 1 1 -
ik 2 - - - - - - - - - - - - - - 2 - - -
R 91 - - - - - = = = = = 2 2 8 9 11| 14| 12| 33
TOft | Bk 62 - - - - - - - - - - 1 1 7 8 8 9 10/ 18
Tk 29 = - S S S S S S S S 1 1 1 1 3 5 2 15




(4) (BRLLAIEMEFEY A - FlmbERAIFETED)

(BT (ERI0E)
3 i
=z 9 @ | 1~4|5~g|10~ |15~ |20~ |25~ |30~ (35~ (40~ (45~ 50~ 55~ |60~ |65~ |70~ |75~ |80~ |85~
14| 19| 24| 29| 34| 39| 44| 49| 54| 59| 64| 69| 74 79 84 Bk
B | 1 = = = = = 1 1 = = 1 1 6 4 13| 11| 22| 18| 33
%t'&“é%% 5t 67 - - - - - - 1 - - 1 - 2 2 9 8| 13| 10| 21
g i 44 - - - - - 1 - - - - 1 4 2 4 3 9 8| 12
B 4 - - - - - - - - - - - 1 - - 1 1 1 -
BiE B 4 - - - - - - - - - - - 1 - - 1 1 1 -
ik - - - - - - - - - - - - - - - - - - -
B 17 - - - - - - - - - - - 1 1 1 2 3 4 5
B Bt 9 - - - - - - - - - - - - - 1 2 2 - 4
i 8 - - - - - - - - - - - 1 1 - - 1 4 1
B 9 - - - - - - - - - - - 1 - 1 2 1 3 1
et Bt 3 - - - - - - - - - - - - - 1 - 1 1 -
it 6 - - - - - - - - - - - 1 - - 2 - 2 1
Wi 4 - - - - - - - - - - - - - 1 1 1 1 -
EE'S’H{ Bt 3 - - - - - - - - - - - - - 1 1 1 - -
ik 1 - - - - - - - - - - - - - - - - 1 -
B 6 - - - - - - - - - - - - 1 - 1 1 - 3
Hg%gﬁ Bt 5 - - - - - - - - - - - - 1 - 1 1 - 2
R ik 1 - - - - - - - - - - - - - - - - - 1
Wi 17 - - - - - - - - - - - 1 1 3 - 5 1 6
-3 Bt 7 - - - - - - - - - - - 1 - 1 - 1 1 3
i ik 10 - - - - - - - - - - - - 1 2 - 4 - 3
g, o | BH 16 - - - - - - - - - 1 - - 1 2 - 3 3 6
X R | Bt 13 - - - - - - - - - 1 - - 1 2 - 2 3 4
R U g i 3 - - - - - - - - - - - - - - - 1 - 2
wi 5 - - - - - - - - - - - - - - 1 1 - 3
BIALAR | B 5 - - - - - - - - - - - - - - 1 1 - 3
i
8 5 - - - - = = = = = = 1 1 = = - 2 - 1
3E Bt = - - - - - - - - - - - - - - - - - -
Tt 5 - - - - - - - - - - 1 1 - - - 2 - 1
7Y 1 - - - - - - - - - - - - - - - - - 1
FE Bt
ik 1 - - - - - - - - - - - - - - - - - 1
wH - - - - - - - - - - - - - - - - - - -
B Bt
g i3 - - - - - - - - - - - - - - - - - - -
Wi 3 - - - - - - - - - - - 1 - 1 - - 1 -
Bl&E | B - - - - - - - - - - - - - - - - - - -
g i3 3 - - - - - - - - - - - 1 - 1 - - 1 -
o 24 - - - = = 1 1 = = = = = = 4 3 4 4 7
TOH | B 18 - - = = = = 1 = = S = = S 3 2 3 4 5
Tk 6 - - - - - 1 - - - - - - - 1 1 1 - 2




(4) (EROLLAIEMEFTEY il - FlnbE R TR

(Eigh) (SER304E)
23 i
X 7 @ | 1~4|5~0|10~ |15~ |20~ |25~ |30~ |35~ |40~ |45~ |50~ (55~ |60~ |65~ |70~ |75~ |80~ |85~
14| 19| 24| 29| 34| 39| 44| 49| 54| 59| 64| 69| 74| 79| 84| kL
i | 176 - - - - - - 1 - 3 1 1 6 o| 12| 24| 28| 34| 57
%ti%ﬁﬁi)% Bt | 106 - - - - - - 1 - 1 1 - 5 5 8 21| 20| 21| 23
g3 70 - - - - - - - - 2 - 1 1 4 4 3 8| 13| 34
wH 5 - - - - - - - - - - - - - - 2 1 1 1
R B 5 - - - - - - - - - - - - - - 2 1 1 1
i - - - - - - - - - - - - - - - - - - -
B 25 - - - - - - - - - 1 - 2 1 1 2 3 7 8
B Bt 16 - - - - - - - - - 1 - 2 - 1 2 1 5 4
i 9 - - - - - - - - - - - - 1 - - 2 2 4
B 25 - - - - - - - - 1 - - - 1 3 1 8 1 10
i B 12 - - - - - - - - - - - - - 3 1 6 - 2
-8 -3 13 - - - - - - - - 1 - - - 1 - - 2 1 8
wH 6 - - - - - - - - - - - 1 3 1 - - - 1
Egg-salﬁ B 4 - - - - - - - - - - - 1 3 - - - - -
i 2 - - - - - - - - - - - - - 1 - - - 1
B 7 - - - - - - - - - - - - 1 - 2 - 2 2
E;{%gﬁ B 4 - - - - - - - - - - - - 1 - 1 - 1 1
a7 g 3 - - - - - - - - - - - - - - 1 - 1 1
B 18 - - - - - - - - - - - - 1 1 5 3 4 4
-3 B 11 - - - - - - - - - - - - - - 5 1 2 3
i i 7 - - - - - - - - - - - - 1 1 - 2 2 1
. o | BY 35 - - - - - - - - - - - - 1 = 5 7 8| 14
BX &k | Bt 23 - - - - - - - - - - - - 1 - 4 6 6 6
51 U =g 12 - - - - - - - - - - - - - - 1 1 2 8
wH 4 - - - - - - - - - - - 1 - - 1 - 1 1
BIMAR | Bt 4 - - - - - - - - - - - 1 - - 1 - 1 1
Tt
B 4 - - - - - - - - 1 - - - - 1 - - 1 1
B B = - - - - - - - - - - - - - - - - - -
=g 4 - - - - - - - - 1 - - - - 1 - - 1 1
wK 1l < < 4 4 4 4 4 4 4 4 4 4 4 4 4 4 -
FE B
Ed 3 I T T T T T T T s s e T O T T T O
w% 3 - - - - - - - - - - - - 1 1 - - - 1
RS 5%
i 3 - - - - - - - - - - - - 1 1 - - - 1
wH 3 - - - - - - - - - - - - - 1 1 - - 1
Rl | B 2 - - - - - - - - - - - - - 1 1 - - -
Ed 3 I T T T s e T T T s e T O T O T O
R 40 - - - - - - 1 - 1 - 1 2 - 3 5 6 9| 12
TOftt | Bt 25 = = = = = = 1 = 1 = = 1 = 3 4 5 5 5
-8:3 15 - - - - - - - - - - 1 1 - - 1 1 4 7




(5) FERAFETIELI(T2—11)

B 4 I 21 & IR 22 £ R 23 &£ R 24 £ SRR 25 &
3t Ex | B Hx 4 Hx 3t Hx 3t Fx
F1GL |BUHEY| 2738 BiEFAE| 275.1 (| EMFHEY| 2841 | FEMEHEY| 286.0| BEtEEE| 299.0
B | 824 | DERB 150.8| 1DESE 162.8| &S 177.7] &S 180.2| V&S 173.8
B $Eof6r |MNmEKRE| 983|RiMEKSE| 102.3|RHMMmEZKRSE| 1000 NMmEZES| 99.7|MNMmEFZKE| 959
B | g4t i ¢ 848 Hh#% 94.1 fifi % 98.9| fm#k 955| fmid 91.8
540 EE 412 = 529| EF 583 = 669 EE 78.9
6L | BUEHEY| 2896 BMHAEY| 268.0| BEMEFAEY| 281.8| EttE4| 281.3| EtEFHEW| 3089
T Eop | KR 139.2| iMRE 137.7| iMERE 154.1| DB 176.0| &S 160.9
E3HL |NMEREB| 930|RMEKERE| 942|RMmEKSE| 895|RKMEASB| 91.1|KNMEFXEHB| 893
A | B fifi % 79.6] Hh# 843 Hh#% 78.2| BEh#% 759| & 81.2
FE541 EE 476 Z2E 63.7 EE 64.1 2= 67.8 i 9% 70.2
4 T Rl 26 £ IR 27 £ I RR 28 £F IR 29 £F R 30 &
5 FEx 5E HEx 5E HEx 5 HEx 5 o+
F6L | BEFEY| 299.7| BMEFEY| 304.0| BEMEFLEY| 3047 EEHEY| 3105 FBMEHFEW| 3135
B | 824 | DERB 175.0| 1DESE 175.0| &S 175.2| &S 178.7| 1MES 179.5
B | $34r |NmEAESB| 965 fhik 96.6| flizs 976 EE 1022 E= 105.2
R | $Eaf firhi 9% 946 NMELEE| 942 =EE 06.3| INMELEE| 96.8|NMEESB| 910
E54L EE 759 E=®E 88.6| MM ELRE| 953 M 80.8| Fhids 76.9
6L | BEFEY| 3068 BHEFAEY| 3106 BMEFTAEY| 3043 EEFEY| 3455 BEFEY| 3227
T | F26 | LDER 174.6| 1DKRB 1739 1MVES 1701 IDERE 181.7| 1IMRERE 190.6
3L |NMEEEB| 890 R 108.7| = 137.1 EE 137.1 2= 122.3
A | B EE 842| MM EEE| 865|NMERSB| 80.7|KNMEFESE| 940|NMEZEE| 856
E5HI fifi 9& 69.3 fhi%k 787 Hfi%k 72.9| Bh#% 68.8| ffi#k 72.3
* FE[IAO1053
FERRZBE (02-1) FRL3I04F
TN

ZDith

fibd I & 7 B

EBEHED




4 FLIRFET

(1) ERAIARETHE -ZE (T2—12)

R 4 T RE21 5 €22 £ IR 23 & €24 £ SRR 25 &
O [ Ex | E | Ex | E K| Ex | EH FEx | B | Ex
£ H 2,556 24| 2450 23| 2,463 23| 2,299 22| 2,185 2.1
is; B R 38 2.2 41 24 49 2.9 27 16 40 25
g A 3 1.8 4 2.6 4 2.6 1 0.7 4 2.7
ZARRT 1 1.1 1 1.2 1 1.2 - - 2 26
HRH 2 6.6 - - - - 1 3 - -
T igh - - 3 7.1 3 7.1 - - 2 5.5
K 4 I R 26 £ €I k27 & € R 28 £ €29 £ 3 Rk 30 £
£ | #Ex | E | Ex | E K| Ex | EH Fx | B | Ex
2 H 2,080 2.1 1,916 19 1,928 20 1,761 19| 1,748 1.9
iy B R 37 24 30 19 35 24 29 2.1 26 1.9
g A 3 2.2 1 0.7 1 0.7 2 15 3 2.4
Z2ARRT 1 1.4 1 1.3 1 14 2 2.9 2 3.0
I iR T 1 4.0 - - - - - - = =
ol s ] 1 2.7 — — - - - - 1 3
* E(IHAEFH
ZLIRFETEDHET (F2-3)
—— 42 F
- FEE
&N
-3
(2) BFEFERABNILRETCH (T2—13)
— _ (F£R304F)
X % FEER | B A R
# o 26 3
£ X F ®E 9 HEZ =X
BEHICREL-RE 9 HEZ=1Xi
B4 R SRR TEAE IR B - -
Z ) fth 8 1
(3) MER, PBERUVELCLIICEDFETH(T2—14)
K5 2 EH|[EBEER|E R B & £
TR214E 61 —
T Ri224F 49 - -
ERR234E 43 - -
T 245 50 -l -
ER255 41 - -
ER 264 33 -
K274 44 - -
TR285E 36 - -
TRR294E 36 1 —
304 33 2




5 3 &E

(1) FEXRFNFEEH-FE (T2—15)

= 5 R 21 & E B 22 & TR 23 &
B HE|Ex | BRI AT LB E|[E(BRIAIT|  LBE[E(BR| AL
£ H 27,005 246 12,214 14791| 26,560 24.2| 12,245| 14,315| 25751 239| 11,940| 13811
Ik & ] 358 20.2 186 172 382| 22.1 171 211 337| 19.6 149 188
g N 40| 236 19 21 35 22.0 14 21 24| 14.7 7 17
ZRRAT 22| 238 9 13 23| 26.9 10 13 15[ 16.9 6 9
BT 9 288 4 5 2| 6.6 2 - 5[ 17.0 1 4
+ g 9] 197 6 3 10| 23.0 2 8 4] 89 - 4
4% R 24 & X R 25 &E E R 26 &
B | Fx | B R[ANIT[# 8|2 | BR|ANIT | LBH|[Ex| BRI AT
£ H 24800 234 11,448] 13,352 24,102 229| 10,938| 13,164| 23,524 229 10905 12,619
Ik B ] 355 21.1 177 178 311| 19.1 141 170 313| 20.3 144 169
T N 36| 23.2 22 14 24| 16.2 11 13 36| 25.9 16 20
ZART 23| 275 16 7 11| 141 5 6 24 317 10 14
In )R T 5| 16.3 2 3 6 18.1 4 2 6| 23.3 2 4
1 i gl 195 4 4 7] 18.8 2 5 6| 16.1 4 2
B 4 X RR 27 £ ¥ RR 28 £ ¥R 29 £
BB Fqx | B R[(ANIT[# 8|2 | BR|ANIT | B H|[Ex| BRI AT
£ H 22617] 220 10,862 11,755 20,934| 21.0] 10,067| 10867 20,358 21.1] 9,738] 10,620
Ik B 18 320 20.3 148 172 289 19.1 154 135 254| 17.8 128 126
T N 32 217 20 12 26| 18.6 17 9 15[ 11.3 4 11
E2-0 il 18] 22.7 12 6 12| 16.5 7 5 10| 14.1 3 7
miB ™ 5/ 18.1 3 2 9| 30.6 7 2 2| 86 - 2
T g 9| 224 5 4 5 13.2 3 2 3[ 79 1 2
¥ R 30 £
R A g == B R[ACT
£ H 19,614| 20.9| 9,252| 10,362
Ik B |’ 271 194 132 139
g N 22 17.3 10 12
E2=0 il 14| 20.6 9 5
RBEH 4l 151 1 3
+ i i 4] 122 = 4
X (LTt
HAE 50t SEEREDHEFE (F2-4)
300 r
250
200 -
15.0 —— | B I8
—— 5
100 - 2 N
50 -
0.0 :

21

22

23

24

25

26

27

28

29

30 F



6 IEIECRENE

(1) FERAEBEHK-E (T2—-16)

B 4% E 21 & TR 22 5 F k23 F Tk 24 5 X 25 £
EH | Ex| R | E+x| RH | x| BRH ([ Ex| ¥ | Ex
2 H 707,734 56| 700214 54| 661,895 52| 668869 53| 660613 5.3
iz B ] 10,364| 5.1 10,087 48 9,647| 4.7 9,521| 4.7 9,492| 4.7
T W 962 44 924 43 840 40 873 4.1 878 4.2
ZaRMm 503| 4.4 475| 4.2 451 40 459 4.1 479 43
iR 188 46 165 4.1 165 4.1 194| 49 181| 46
T g 271 45 284 4.7 224 3.7 220 3.7 218 3.7
B 4 SRR 26 £ SRR 27 & S R 28 & SRR 29 SE R 30 £
EH | Bx| R | Bx| BH | x| EH [ Ex| EH | Ex
) 643,749| 51| 635156 5.1 620531 50| 606,866 4.9 586,481 4.7
g B ] 9,071 45 8,859 4.4 8,581 4.3 8,392 43 7912 40
T R 840 4.0 866 4.2 812 39 822| 4.0 726] 3.6
ZnRMm 448| 41 433 39 446 41 427 39 420 39
iR H 154| 4.0 189 4.9 155| 4.0 157| 4.2 142| 38
ol A 238 4.1 244 42 211 3.7 238 4.2 164 29
* FE(FAOFX
(2) FERANMIBH-R (T2—-17)
R 4 F 21 £ F % 22 £F F p% 23 £ F Bk 24 £ ¥ % 25 £
E B | Bx| RH | Bx| RH | Ex| EH | Ex| EH | Ex
2 H 253,353| 20| 251,378 1.99( 235719| 1.87| 235406 1.87| 231,383 1.84
g B IR 3534 1.7 3,395| 1.66 3,385/ 1.66 3,306 1.63 3,227 1.60
T W 365 1.7 328 1.54 351 1.65 296| 1.40 320| 153
ZaRm 194 1.7 165| 1.47 200| 1.79 162| 1.45 190| 1.7
I iR 64| 1.6 60| 1.49 54| 1.35 57| 1.44 47| 1.19
T ik 107| 1.8 103| 1.70 97| 1.61 77| 1.29 83 1.41
B 4 F X 26 F F % 27 T % 28 £ T 29 4 ¥ i 30 &
E B | Bx| RH | Bx| RH | Ex| BB | Ex| EH | Ex
2 H 222,107 1.77| 226,215 1.81| 216,798 1.73| 212,262 1.70| 208,333| 1.68
i B IR 3,182| 1.58 3,182| 1.56 3,058| 1.54 2,963 1.50 2,876 1.47
T N 308 1.48 292| 1.41 325 158 278| 1.36 279| 1.38
ZaRm 167| 1.51 170| 1.54 176 1.60 162 1.49 163| 1.51
B 57| 1.46 40| 1.03 48| 1.25 50| 1.32 48| 1.28
T i 84| 1.43 82 1.42 101 1.76 66| 1.16 68| 1.20

* EIAQF




